- G =6.67E-11 Nm%/kg?

Mass (kg)
Earth - 5.98824
Moon 7.3E22
Pluto 1.3E22
Uranus 8.68E25
Venus - 4.87B24
Sun 1.99E30

| radius (km)

6380
1740
1190
27346
6051

Gravitation (with Circular Motion) |

1. A satellite (2340 kg) is orbiting Venus at an altitude of 20 k.
a. Find the speed of the satellite
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b. Find the period of the satellite’s orbit,
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2. Find the accele;gﬁon due to gravity near the surface of Uranus.

3. ‘A man weighs 690 N on Earth.

8, Whatis the man’s welght on the moon?
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b What is the man’s mass on the moon‘?

[ad L—}QK,L"V\( S

¢. Whatis the man’s mass on Venus?
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4. Determine thé'-speed Pluto is traveling if it has an orbital diéta.nce from the sun of 5900E6km.
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. Find the acceleration due to gravity near the surface of Venus.
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. How fastisa satelhte moving 1f it is 3.59E7 meters above the surface of Uranus" What is

that satellite’s orbital Eenod‘? ‘ 2
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. Determine the force between the sun and Venus if thezr orb1ta1 distance is 108B6 km. — e
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. What is the orbital speed of Uranus if it has an orbital radius of 28706 km from the sun?
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. A 1500 kg satellite is put 150 km above Pluto, aﬁd set into orbit.

a. Whatis the speed of this satelhte‘? _ -
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b. What is the period of this satellite (in hours)?
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